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Comments on questions

Q1 Airy stress function in a half-space & application of yield criteria

A question that was reasonably well-attempted. Most students struggled on part (c) in
attempting to use the von-Mises criterion to predict first yield. They were unable to
determine the location at which yielding initiated in this half-space.

Q2  Airy stress functions in polar co-ordinates

Generally the students had no problems with this question with a number of
candidates being awarded 100% on this question. Some students struggled in the co-
ordinate rotation to determine the SCF under pure shear.

Q3  Axi-symmetric elastic fields

While most candidates answered part (a) well they struggled with both subsections of
part (b). They struggled to correctly apply the boundary conditions as specified in the
question.

Q4  Upper bound plastic collapse calculation

A very unpopular question. The assessor is surprised at this given that part (a) was
basically covered in the lecture notes and was a direct application of the upper bound
method. Of the 6 students who attempted it 2 were awarded 100% on the question.
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